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S 20174

Oll &FXb= 0 =0l A

sine : wols

OPN=ENE— SISEEIE)

o A = & A E|
8 = 40l & ESel0 =2 & = HACX S =2

= A 203,655 206,287 A2,632 | 8 203,655 206,287 A2,632
PSpell= 0 0 0lHISXA 3,600 5,500 A1,900
EES= 0 0 0| XA 0 0 0
a2 0 0 0|02 0 0 0
o eeeny 0 0 0|72 0 0 0
NEr225% 0 0 0|03 0 0 0
OIXI 23] 200,895 203,087 A2,192| 0 XI2 200,055 200,787 AT32
=} 0 0 0| X2« 0 0 0
Ol K=&l 2,760 3,200 AJAO| 022 0 0 0
JIEF 0 0 0| JIEHKIZ 0 0 0
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SlHAL @ 20174
Ol&kRE ¢ =0 At
SR Lol=RI2
@ >YH= ol 1)
IR XL T = A E U o
TSIkt
200 M2l 2,760 3,200 2440
210 ZEA2A+=Y 2,760 3,200 2440
216 OlXt==g 2,760 3,200 2440
216-01 SS0USO0IA== 2,760 3,200 2440
O0IXIZ Okt 2,760,000& = 2,760
700 BE=USLLHEIHH 200,895 203,087 AN2,192
710 Ed=2S 200,895 203,087 A2,192
714 HXI3=2l= 200,895 203,087 A2,192
714-01  OIXI=al= 200,895 203,087 AN2,192
OUIXI= 2= 200,895,000& = 200,895
= 2 & A 203,655 206,287 A2,632




SIHAE 20174
Oll &FXb= 0 =0l A
SAHRE - Le=X0I2
® XEH= (Eh9): @)
2&.2F2 - HHM . H2 - JIRAIY - BES XI=H HEAEX| =N Hws2Z
SXIA 203,655 206, 287 A2,632
Lol HAE 203,655 206,287 A2,632
Lol=x =X 3,600 5,500 A1,900
LOISX HMEX(L0=XDI2) 3,600 5,500 A1,900
LOISX| #AF XY 3,600 5,500 A1,900
201 LBH2HY] 2,400 2,400 0
01 A2 2,400 2,400 2,400 0
OZay D0y 29 2,400,0002 = 2,400
307 eIZtolH 1,200 3,100 A1,900
0 DIZIAAAIRIE X 1,200 1,200 3,100 1,900
OLolo] & Al RI 1,200,0002 = 1,200
RS (SXIAL D) 200,055 200,787 AT32
BEXE(L=2XDI3) 200,055 200,787 AT32
CEI=NY 200,055 200,787 AT32
602 OIXl= 200,055 200,787 ANT32
0l ox= 200,055 200,055 200,787 AT32
OulIxI2 200,055,0002 = 200,085
X = & A 203,655 206,287 A2,632
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Oll&ERb== 0 204
gAF=Z ¢ LeI=XDI3

(et ERH)
24 9 & & o

O:‘Et” (=] S TIA T = A9 EOH

T He | moe=2 | g2xz | o= | R | a2 Ol Xt JIEt H ©® HIEXS | SAd | pmzau | A3V | 022 | JIEL | (@-D)
e =9 | (oxzs) TS Aol ENe]| AHL | AFIH| | %213 | g3sE | 2iEae | KIS

20113 DX 330,447 200,000 0 0 0 0 130,447 0 125,130 125,130 0 0 0 0 0 205,317
20129 & 6,459 0 0 0 0 0 6,459 0 6,600 6,600 0 0 0 0 0 A141
20139 &= 6,037 0 0 0 0 0 6,037 0 6,600 6,600 0 0 0 0 0 A563
201449 & 5,313 0 0 0 0 0 5,313 0 5,600 5,600 0 0 0 0 0 A287
201549 & 4,409 0 0 0 0 0 4,409 0 5,600 5,600 0 0 0 0 0 AT, 1N
20169 & 3,200 0 0 0 0 0 3,200 0 5,440 5,440 0 0 0 0 0 A2,240
20179 & 2,760 0 0 0 0 0 2,760 0 3,600 3,600 0 0 0 0 0 AB40
Al 358,625 200,000 0 0 0 0 158,625 0 158,570 158,570 0 0 0 0 0 200,055
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4. xXl= & OE= EAl
MO ;20174
OlakTia 1 =04
=1 = . Lo=IDl=
il 1)l (=R
GIIXI & Ol EoH
= OIXI(EH) X Bl
2015 ST N 2016 U T H@ 017H US| HO =E{(OZ6)
=] 203,087 200,895 200,055 A840
0IXI3 B | 203,087 200,8% 200,055 A840
=8 203,087 200,8% 200,055 A840
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